



Responsive partner. Exceptional outcomes.

July 6, 2017

Laura Jester

Bassett Creek Watershed Management Commission 16145 Hillcrest Lane Eden Prairie, MN 55346

RE: June 2017 Invoice 2017 Priority Lake Monitoring Wenck File #B0647-0008

Dear Ms. Jester:

Attached is our June invoice for the above-referenced project in the amount of \$7,908.73.

Work completed this month:

- Review historic lake data
- Vegetation surveys
- Collect water quality samples

Anticipated work next month:

Collect water quality samples

If you have any questions or comments, please call me at (763) 252-6833. Thank you for the opportunity to be of assistance.

Sincerely,

Wenck Associates, Inc.

Jeff Strom

Enclosure



Responsive partner. Exceptional outcomes.

June 2017 Invoice Summary

Task	Description	Original Budget	Current Invoice	Remaining Budget	% expended
1	Lake WQ Sampling	\$27,497.00	\$5,307.43	\$17,198.19	37%
2	Macrophyte Surveys	\$3,599.00	\$2,509.50	\$865.10	76%
3	EQuIS Data Submittal	\$240.00	\$91.80	\$148.20	38%
4	Final Report	\$8,912.00		\$8,912.00	0%

Current Invoice	
Payment Requested	\$7,908.73

Wenck Associates, Inc. | 7500 Olson Memorial Highway | Suite 300 | Golden Valley, MN 55427 Toll Free 800-472-2232 Main 763-252-6800 Email wenckmp@wenck.com Web wenck.com

Invoice

July 5, 2017

Invoice No: 11704004



Ms. Laura Jester Bassett Creek Water Mgmt Commission 16145 Hillcrest Lane Eden Prairie, MN 55346

Responsive partner. Exceptional outcomes.

Project Manager Jeffrey Strom

Project B0647-0008 2017 Priority Lake Monitoring

Professional Services Through June 30, 2017

Lake Quality Sampling Phase

Lake Quality Sampling

Professional Personnel

	Hours	Rate	Amount
Beck, Brian	1.50	123.00	184.50
Langer, Thomas	7.10	102.00	724.20
Nalven, Sarah	18.70	102.00	1,907.40
Strom, Jeffrey	11.40	137.00	1,561.80
Weis, Rena	7.50	60.00	450.00
Totals	46.20		4,827.90

Total Labor 4,827.90

Outside Services

Pace Analytical Services, Inc. 200.10

200.10 200.10 **Outside Services Total**

Reimbursable Expenses

31.48 Tools & Equipment

> **Total Reimbursables** 31.48 31.48

Unit Billing

Mileage MP 2012 Silverado 520 JNJ Hydrolab Data Sonde Jon Boat (40)

Lowrance Sonar

Mileage MP 2012 Malibu 974 HYB

247.95

Phase Total \$5,307.43

Macrophyte Surveys Phase

Macrophyte Surveys

Professional Personnel

Hours Rate **Amount** Nalven, Sarah 10.50 102.00 1,071.00 Strom, Jeffrey 10.50 137.00 1,438.50 Totals 21.00 2,509.50

> **Total Labor** 2,509.50

> > Phase Total \$2,509.50

03 EQuIS Submittal Phase

EQuIS Submittal

Project	B0647-0008	2017 Priority La	ke Monitoring		Invoi	ce 11704004
Professional	Personnel					
			Hours	Rate	Amount	
Nalven, S	Sarah		.90	102.00	91.80	
	Totals		.90		91.80	
	Total Labor					91.80
				Phase	e Total	\$91.80
				Total Invoice A	mount	\$7,908.73
		Current	Prior	Total		
Billing Sumn	nary	7,908.73	5,215.78	13,124.51		

Project B0647-0008 2017 Priority Lake Monitoring Invoice 11704004

Billing Backup

Wednesday, July 5, 2017 WAI - Wenck Associates, Inc. Invoice 11704004 Dated 7/5/2017 8:51:15 AM

Project	B0647-0008	2017 Priority Lake Monitoring
Phase	01	Lake Quality Sampling
Lake Quality Samp	ling	

Professional Personnel

			Hours	Rate	Amount	
529	931 - Beck, Brian	6/15/2017	1.50	123.00	184.50	
	Picking up samples and o					
700	922 - Langer, Thomas	6/12/2017	2.00	102.00	204.00	
	Sample meeting and equ					
700	922 - Langer, Thomas	6/13/2017	.50	102.00	51.00	
	Survey location and equi					
700	922 - Langer, Thomas	6/14/2017	1.00	102.00	102.00	
	Equipment preparation a	nd purchasing.				
700	922 - Langer, Thomas	6/16/2017	.50	102.00	51.00	
	Vegetation IDing.					
700	922 - Langer, Thomas	6/19/2017	.10	102.00	10.20	
	Vegetation IDing.					
700	922 - Langer, Thomas Data entry.	6/26/2017	3.00	102.00	306.00	
789	922 - Nalven, Sarah	6/15/2017	8.00	102.00	816.00	
703	Fieldwork (veg surveys o			102.00	010.00	
789	922 - Nalven, Sarah	6/15/2017	3.00	102.00	306.00	
703	water quality fieldwork o		5.00	102.00	300.00	
789	922 - Nalven, Sarah	6/20/2017	7.70	102.00	785.40	
703	fieldwork on Sweeney an		7.70	102.00	703.40	
373	932 - Strom, Jeffrey	6/2/2017	.20	137.00	27.40	
373	invoicing.	0/2/2017	.20	137.00	27.40	
373	932 - Strom, Jeffrey	6/6/2017	1.30	137.00	178.10	
373	Download and review date		1.50	137.00	170.10	
373	932 - Strom, Jeffrey	6/9/2017	.50	137.00	68.50	
3/3	Survey prep and review		.30	137.00	06.30	
373	, , ,	6/12/2017	1.80	137.00	246.60	
3/3	932 - Strom, Jeffrey			137.00	240.00	
272	Monitoring prep and plan	•		127.00	411.00	
373	932 - Strom, Jeffrey Sampling prep and review	6/14/2017	3.00	137.00	411.00	
272			4.00	127.00	F40.00	
373	932 - Strom, Jeffrey	6/15/2017	4.00	137.00	548.00	
272	Water quality monitoring	• •	20	127.00	41 10	
373	932 - Strom, Jeffrey	6/21/2017	.30	137.00	41.10	
272	Review data collection ar			127.00	41 10	
373	932 - Strom, Jeffrey	6/30/2017	.30	137.00	41.10	
026	Assist Sarah with data er	,	7.50	60.00	450.00	
826	901 - Weis, Rena	6/20/2017	7.50	60.00	450.00	
	Sweeny and Twin Lake S	ampiing	46.30		4.027.00	
	Totals		46.20		4,827.90	4 00= 00
	Total Labor					4,827.90
Outside 9	Services					
Pace Anal	vtical Services Inc					

Pace Analytical Services, Inc.

AP 47787 6/23/2017 Pace Analytical Services, Inc. / 200.10 INV.#17100180431 (174.00) / Invoice:

17100180431, 6/22/2017

Outside Services Total 200.10 200.10

Project	B0647-0008 2017 Priority	y Lake Monitoring		Invoice	e 1170400
Reimburs	sable Expenses				
Tools & Ed	quipment				
		Sarah / ice for water s	amples	3.50	
EX 000	0000024655 6/15/2017 Nalven, preservii	Sarah / 91 % isopropa ng	nol for	14.00	
EX 000	0000024655 6/15/2017 Nalven, register	Sarah / isopropanol, no broken	o receipt-	10.00	
EX 000	0000024696 6/20/2017 Nalven,	Sarah / ice for water s	amples	3.98	
	Total Reimbursables			31.48	31.48
Unit Billiı	ng				
	nge MP 2012 Silverado 520 JNJ	94 N N	1iles @ 0.535	50.29	
	olab Data Sonde	31.01	mes @ 0.555	100.00	
	Boat (40)			40.00	
	ance Sonar			40.00	
Milea	ige MP 2012 Malibu 974 HYB	33.0 M	1iles @ 0.535	17.66	
					247.95
			Phase	e Total	\$5,307.43
					+ - / · · · ·
	Macranhi ta Ci				
Phase Macrophyt	02 Macrophyte Sι te Surveys	ui veys			
Professio	onal Personnel				
		Hours	Rate	Amount	
789	922 - Nalven, Sarah 6/12/2011		102.00	142.80	
	Prepping for fieldwork with Jeff and To				
789	922 - Nalven, Sarah 6/14/2013		102.00	265.20	
700	Prepping for fieldwork/driving to Mapl		102.00	122.60	
789	922 - Nalven, Sarah 6/15/2013		102.00	132.60	
789	Fieldwork (veg surveys on Lost Lake a 922 - Nalven, Sarah 6/16/201		102.00	530.40	
, 0,	fieldwork (veg survey on Twin Lake)			550. 1 0	
373	932 - Strom, Jeffrey 6/15/2013		137.00	822.00	
- · · ·	Vegetation surveys for Lost and Swee		207.00	022.00	
373	932 - Strom, Jeffrey 6/16/2011		137.00	616.50	
	Vegetation survey for Twin Lake.				
	Totals	21.00		2,509.50	
	Total Labor				2,509.50
			Phase	e Total	\$2,509.50
					, _,
 Phase	03 EQuIS Submit	tal			
EQuIS Sul	-	.cui			
Protessio	onal Personnel	_	_	_	
700	022 Natura C 1	Hours	Rate	Amount	
789	922 - Nalven, Sarah 6/30/2013	7 .90	102.00	91.80	
	water quality data entry	00		01.00	
	Totals	.90		91.80	01 00
	Total Labor				91.80
			Phase	e Total	\$91.80
			Project Total		\$7,908.73
			Total this	Report	\$7,908.73
				•	